AirWash 50/100/150
Aspirators

Spare parts list

(i) kONGSKILDE
Air solutions / your success



(i) KONGSKILDE

Air solutions / your success

10

Pos. |Spare parts list - page |Description
1 1 [123105174-04-05 AirWash 50
1 2 [123105174-06-07 AirWash 100
1 3 [123105174-08-09 AirWash 150
1] 4 |123105174-10-11 AirWash 50, 60Hz
1 5 [123105174-12-13 AirWash 100, 60 Hz
1 6 [123105174-14-15 AirWash 150, 60Hz
1 7 1123105174-16-17 AirWash Cyclone. Hinge for AirWash Blowers
& 1 8 |123105174-18-19 Cascader Assembly. Diffuser Assembly
1 9 [123105174-20-21 Airwash Unit Main Stand. Dust Collection Stand
1] 10 |123105174-22-23 8 Bag Dust Collection Assembly. 4 Bag Dust Collection Assembly

123105174-02-03 Revision 02 123105174-02-03 Revision 02



—_ g () kONGSKILDE

Air solutions / your success

11

Pos. | Pcs. Part no. Description
1 1 12500063121107 | MTD25 Fan Housing
2 1 123105155 | Motorflange for 4kW 50Hz MTD25 blower
3 1 100501209 | AC Motor 112M-2p B5 4(4)kW 3x400/690(460)V 50(60)Hz IE3 UL/CSA
4 1 92563121505 | Rotor for MTD25 blower, L 50Hz
5 1 125100152
6 1 123105146 | Transition to MTD25 blower
7 8 100306029 | Set screw M10 x 25mm DIN 933, elgalvanized
8 8 100316004 | Lock nut M10 DIN 985-6
9 8 100331000 | Washer M12
10 4 100304033 | Set screw M12x35 DIN 933
11 4 100316005 | Lock nut M12 DIN 985-6
12 16 100316003 | Self locking nut M8 DIN 985-6, elgalvanized

123105174-04-05 Revision 02 123105174-04-05 Revision 02



(i) KONGSKILDE

Air solutions / your success

o
o
o

Pcs. Part no. Description
12500063121203 | MTD30 Fan Housing
131041022
100501092 | 7,5KW-400V-50Hz- ICE-132-B5
92563121507 | Rotor for MTD30 blower, L 50Hz
125100153
123105159
100306029 | Set screw M10 x 25mm DIN 933, elgalvanized
100316004 | Lock nut M10 DIN 985-6
100306044 | Set screw M12x40 DIN 933
100316005 | Lock nut M12 DIN 985-6
100316003 | Self locking nut M8 DIN 985-6, elgalvanized
123105174-06-07 Revision 01 123105174-06-07 Revision 01

OO |(N(O|BR[W[IN|—~

Nalo|lolalalalalala

aa
alo

N
»




(i) KONGSKILDE

Air solutions / your success

v
o
(7]

Pcs. Part no. Description
123105156
100501221 | 11,0kW-400V-50Hz ICE-162-B5

92563121509 | Rotor for MTD35 blower, L 50Hz
125100154
123105147
100306029 | Set screw M10 x 25mm DIN 933, elgalvanized
100316004 | Lock nut M10 DIN 985-6
100306056 | M16x45 DIN 933
100316047 | M16 DIN 6925

92563121108 | MTD35 Fan Housing

123105174-08-09 Revision 02 123105174-08-09 Revision 02

o|alalalala

-
o

OO |IN|O(O | WIN|[—

-
o
e




(i) KONGSKILDE

Air solutions / your success

o
[]
@

Pcs. Part no. Description

12500063121107 | MTD25 Fan Housing
123105132

92563121553

125100152
123105146 | Transition to MTD25 blower
100306029 | M10x25 DIN 933
100316004 | Lock nut M10 DIN 985-6
100551148 | 4,0kw-460V-60Hz-184TC
100551147 | 4,0kw-575V-60Hz-184TC

100316003 | M8 DIN 985-6
123105174-10-11  Revision 01 123105174-10-11  Revision 01

Ol |IN|oO|O|_ (W[N]~

Nja|a|lo|lo[m|alala]|

-
o




(i) KONGSKILDE

Air solutions / your success

v
o
(7]

Pcs. Part no. Description

12500063121203 | MTD30 Fan Housing
123105133

92563121555

125100153
123105159
100306029 | M10x25 DIN 933
100316004 | Lock nut M10 DIN 985-6
100551066 | 7,5kw-460V-60Hz-215TC
100551040 | 7,5kw-575V-60Hz-215TC

12500063121203 | MTD30 Fan Housing

123105174-12-13 Revision 02 123105174-12-13 Revision 02

OO |IN|O|O|_ (W[N] =

aAlalalo|lo|alalalal

-
o




(i) KONGSKILDE

Air solutions / your success

Pos. | Pcs Part no. Description
1 1 92563121108 | MTD35 Fan Housing
2 1 123105134
3 1 92563121557
4 1 125100154
5 1 123105147
6 1 699116629 | 11,0kW-460V-60Hz 254TC
7 1 699116630 | 11,0kW-575V-60Hz 254TC
8 2 100316004 | Lock nut M10 DIN 985-6

123105174-14-15 Revision 01

123105174-14-15 Revision 01



(i) KONGSKILDE

Air solutions / your success

v
o
[7]

Pcs. Part no. Description
123105075
123105119 | Insert with bottom welded, for cyclone
123105123
100331057
100306030 | M10x30 DIN 933

100316004 | Lock nut M10 DIN 985-6
123105032
123105144
123105145
100306029 | M10x25 DIN 933

100316004 | Lock nut M10 DIN 985-6

©

O |IN|O|O|D[W[N|—

-
o

N

N
-
N
-
w

| 12 2 100308019 | M10x80 DIN 933
! 13 | 16 100323382 | M10X25 DIN7984
14 2 123105169
15 1 100304036 | Set screw M12x50 DIN 933

| 11
123105174-16-17 Revision 02 é/ 123105174-16-17 Revision 02



DETAILA (2:5)

123105174-18-19 Revision 02

B 19

25

24

(iK) xoNGSKILDE

Air solutions f your success

DETAIL B (2:5)

23 @
16
Tt
Pos. | Pcs. Part no. Description

1 2 123105035
2 1 123105160
3 1 123105161
4 4 100420178
5 1 121100425
6 2 122050077 | Order 122050150 Quick release clamp OK200
7 8 100306015 | M8x20 DIN 933
8 8 100316003 | M8 DIN 985-6
9 1 123105086
10 2 123105092
11 2 123105097
12 | 12 100323041 | M6x16 DIN 933
13 | 16 100316002 | M6 DIN 985-6
14 2 100306015 | M8x20 DIN 933
15 2 122000611 | Coil spring M8
16 | 10 100316003 | M8 DIN 985-6
17 4 100323280 | M6x10 DIN912 8,8
18 4 100331013 | Washer 1/4"
19 1 123105173
20 1 121120113
21 1 121120116
22 1 100333000 | Split pin @2x15 mm
23 8 100308049 | M8x25 DIN 933 10,9
24 8 100316004 | Lock nut M10 DIN 985-6
25 8 100306030 | M10x30 DIN 933

123105174-18-19 Revision 02



123105174-20-21 Revision 02

(iK) xoNGSKILDE

Air solutions f your success

Pos. | Pcs. Part no. Description
1 1 123105103
2 1 123105154
3 4 123105104
4 48 100316005 | Lock nut M12 DIN 985-6
5 48 100306043 | Set screw M12x30 DIN 933
6 4 123105112
7 4 123105111
8 24 100306029 | M10x25 DIN 933
9 24 100316004 | Lock nut M10 DIN 985-6
10 1 123105110

123105174-20-21 Revision 02



(iK) xoNGSKILDE

Air solutions f your success

4 ) Pos. | Pcs. Part no. Description
\ A 1 1 123105031
l 2 2 4 100306029 | M10x25 DIN 933
3 4 100316004 | Lock nut M10 DIN 985-6
4 8 699114055
v 5 2 699114237
e 6 2 699114492
_Q' 7 16 122050077 | Order 122050150 Quick release clamp OK200
8 1 123105030
. 9 4 100306029 | M10x25 DIN 933
Q 10 4 100316004 | Lock nut M10 DIN 985-6
] 11 [ 4 699114055
12 1 699114237
13 1 699114492
v 14 8 122050077 | Order 122050150 Quick release clamp OK200

123105174-22-23 Revision 02

123105174-22-23 Revision 02



123105174 You can always find the latest version of the manuals at 10.02.2023

www.kongskilde-industries.com

Kongskilde Industries A/S
Skaelskgrvej 64

DK - 4180 Sorg

Tel. +45 7217 60 00
mail@kongskilde-industries.com

www.kongskilde-industries.com

(i) KONGSKILDE

Air solutions / your success




